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Second Paper
(a) [Elements of Statistics and Mathematics]

100 for Arts

Time Allowed : Three Hours Maximum Marks : {
75 for Science

Write your roll number on question paper before start writing answers of questions. No supplementary
answer-book will be given to any candidate, hence the candidates should write their answers precisely. .

Part- A shall contain question No.I consisting of very short type X (Ten) questions. The candidate is required to
answer each question in 20 words. Part-B shall contain question No.2 consisting of V (five) questions. The
candidale is required to answer each question in 100 words. Part-C shall contain 3 essay type questions {one from
each secfion) with internal choice.

Attempt five questions in all. All questions of Part-A and Part-B are compulsory while rest 3 question are to be
attempted from Part-C selecting one question from each seclion. All question carry equal marks.
Part- A - All; Part-B-All, Part - C-3 (1 from each section) each question. Carry 20 marks for Arts students and 15
marks for Science students.
PART-A /¥ - H

1. Explain the following :

= #i orEnT sifaw

(3. 8x2-10x+2=0

(i) Find the 10'P term of the following series :

o= it @1 TEal W 9. Sy

1 7 11

-1, - —

I
(iii) Write the formula of point elasticity of Demand,

T # fag | = g fafam)

ivy Find the value of the determinant
ARfo &1 W 9 HIY

—4 -3
¥ -2 -4
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(v} Define geometric mean.

TR AT ) wfoafed FR

2
(vi) Find %

dzy - A —— i -
Qmm‘\ﬁqr
2x(1- £2)

{vii) What is skewness ? \
foma 7 €2

(viii) Write any two differences between correlation and regression.

grgEy 7 yaremm 3 S8 2 s fafaa

(ix) What are the uses of integration in economics ?

W Bl AGUREA o 7 I9E § 2

(x) Write the additive model of time series component.

v wag Ao & W F Ao wiee & fafan)
PART-B/YM -9

2. (Q Simplify :
T H

14n+4 + 7n+3 % 2n+3

13 x 14271 4 142

(i) What are the points of intersection of the line with equation 2x+ 3y =7 and the parabola with
equation y=—2x2+2z+57 https://www.uoronline.com

T 25+ 3y =7 IR TATT TR 5= — 242 + 2x+ 5 & A HIHT T F Wiereer fag 71
i ?

(iii) Obtain inverse of Matrix :

Azw =1 vfoeim 7@ Fifwe
Aw [3 4]
1 2
(iv) Find the cnmbit_:ed means for the two group of workers for the following data :
y TR & AR ¥ Pt siwd | o worR e 3@ S .

Group - 1| Group - 2

Mean wages
(wren A9gh)
No. of workers

(tﬁ{ﬁﬂﬂmj 1000 1500

5 60

"W Expanse this through binomial expansion method -
" fr feream O @ foram wifoe -
(X240
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PART-C/wm -4
SECTION-A/WUE - X

G) Find the 9P term of G.P. 1,3,9,27,81, ..........
TR AV 1, 3, 9, 27, 81, coens ¥ 93 R A FY)

- 2 _ -
9x—2  4x =7 _6x-1 find the value of x.
3 4x® +3 2

(ii)

2
9x - 7 -
x-2 417 -7 _6x-1 g E A

3 4 +3 2

(i) Differerftiate -
AT DY

Y= l.ogv'::s—l

Show the nature of commodities :
X,=60-3p; +2py and
Ko=50~Tp, - 10p,
E‘@Sﬁ H FFjiﬁl FAG
X, =60-3dp; + 2p, A
X,=60-Tp; - 10p,

(iv)
N s

" QR /3rgar

i)  Solve the following equation by Cramer's rule :

I ¥ fraw gro e et & 7 Fife :

2x+y—z=3

x+y+z=1

x—2y—-3z=4
(i) Provethat:

fag #ifsd -

Log® - 10g22 +Elog%7 =0

Find the elasticity of demand function :

q= ho-p? atP=2

afe Tin weq =410 - P2 3 P=2 3 A Hir F r g w0
(iv) Provethat:

fog #ifA :

1 1 1
x 23: 32. =(x—2y) (2y—32) (32~2)
PR

(1)

P.T.O.
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SECTION -B/ Qg - W

(1)  Define atatistics and dircusa ita nature and acope.

witer 1 gfturn 2 R wmeEl vl 49 @ il i)

(i)  Find the atandard devintion and ita cocfficient from the following datn :

ey il & s freer ol 3o ToNiE T @i

Wages (Less than) No. of persona
Rzl (8 #H) afal %1 v
10 12
20 30
30 66
40 107
50 157
60 202
70 222
80 230
OR / 34at
(1)  Define dispersion and skewness,
Fufertn § faewar i vfowfa Fifaw)
(i) Locate the missing frequencies in the following distribution :
= aftla gl 92w & s st s Fifd
Clasa Interval Frequency
(Fmt=r) (smfa)
0-10 3
10- 20 -
20- 30 20
30 - 40 12
40 - 50 .

Median and Mode are 27 and 26 respectively.
itz ok ages Fow: 27 A 26 ¥

SECTION-C/@vE - W

5. ()  Calculate coefficient of correlation between the two variables (x) and (y) from the following

data :

2 fel M et /= () A (y) F Wed Y UH @ FA
x y
57 10
42 26
40 30
38 31
42 29
45 27
42 29
45 27
42 27
44 19
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(n)

(1)

()

Explain ‘Index Number'. Why is Fisher's formula referred to as a ‘Ideal Index’

?

qEwie 1 37 TG | R 1 A anedl e i weer #

OR / 31a4ar

Below are given the figures of production (in thousand kgs) of wheat crop :

T T TR F1 IR (TR Fevetam A) Frer yaR ¥

Year (a9) Production (39EH)
1994 70
1995 80
1996 86
1997 i
1998 85
1999 90
2000 88

(a)

(b)

From the following table find the value of y when x=

Fit a straight line trend by taking the year of origin at 1996.
4 1996 F [T FAA £ T e wgfa e 9

Find out the trend value for the year 2002.

a9 2002 ¥ ferw wafa geq T ORI ST

8:

Foct TR A =8 3 AT y 1 T T HIAC

x

=1 N LS

w

y
10
20
32
48
62

-00o0-



